Math 114 o Name:
Midterm 1 wHITE
Thu Apr 23, 2009

YOU MUST SHOW LOGICAL, NEAT AND ORGANIZED WORK TO EARN FULL CREDIT

PUT A BOX AROUND YOUR FINAL ANSWER

Write 81,700,000 in scientific notation. SCORE: ___ /4 POINTS
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Write 1.97 107 in standard notation. SCORE: ___ /4 POINTS
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Write using fractional and/or negative exponents (where applicable). SCORE: __ /12 POINTS
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Perform the indicated operations and simplify. Write your final answers using fractional exponents. SCORE: __ /20 POINTS
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Find the center and radius of the circle x* 4+ y* =10x+12y+12=0

SCORE: __/10 POINTS
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Divide. Rationalize the denominator and simplify. Write vour final answers using radicals

SCORE: ___/8 POINTS

Solve the equation m —~/2m —1 = 2 using algebra. Check your answer(s)

: SCORE: __ /14 POINTS
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Perform the indicated operations and simplify. Write your final answers using radicals.
[a] VA8 +4/7

SCORE: /20 POINTS
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Simplify TZF?agvg . Write vour final answer using radicals.
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Rationalize the denominator and simplify. Write your final answers using radicals. SCORE: __ /14 POINTS
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Find the distance between the points (7,—8) and (—1,—4). Write your final answer in simplest radical form. SCORE: __ /8 POINTS
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Find the equat10n ofthn: c1rc]c with center (3 - -{) and radius 9. SCORE: ___ /6 POINTS
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Solve the equation 14 — 3@ = 2 using algebra. Check your answer(s). SCORE: ___ /10 POINTS
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